"

RICE ADAMAS

GROUP

RICE ricesMmort
EDUCATION | rocether in success

PSC CLERKSHIP EXAMINATION (PART-I) 2023

ENGLISH, GENERAL STUDIES AND ARITHMETICS

TEST BOOKLET SERIES -A
SESSION - IV

. A word that is spelt or pronounced like another
word but have completely different meaning is
known as a/an

(A) Homonym (B) Synonym
(C) Antonym (D) Paronym

. An animal that feeds on plants is called
(A) Carnivorous (B) Herbivorous

(C) Insectivorous (D) Omnivorous

. What is the noun form of ‘Restrict’?
(A) Restricted (B) Restricting
(C) Restriction (D) Restrictive

. Fill in the blank with the correct preposition :

We’ve been working this morning.

(A) in (B) at
(C) since (D) on
. Fill in the blank:
A of lions.
(A) herd (B) group
(C) pride (D) pack

. Choose the correct word to complete the following
sentence:

My research focuses on the half of the

eighteenth century.
(A) later (B) latter
(C) late (D) lateness
. Identify the clause in the following sentence:
Neha played when evening came.
(A) Neha played
(B) Played when evening
(C) When evening came
(D) Evening came
[Note : Option (A) & (C) both are correct]

8.

10.

11.

12.

Choose the correct plural form:

(A) Daughter-in-law

(B) Daughters-in-law

(C) Daughter-in-laws

(D) Daughers-in-laws

What is the antonym of Conform?

(i) Rebel (i) Hide

(iii) Conflict (iv) Trust

(A) Both (i) and (iii)

(B) Only (ii)

(C) Both (i) and (ii)

(D) Only (iii)

Identify the type of the underlined noun:
Wisdom is always better than strength.
(A) Collective (B) Common
(C) Material (D) Abstract

Convert the following direct speech to indirect
speech:

He said, “I have passed the examination.”

(A) He said I am passed the examination.

(B) He said that he had passed the examination.
(C) He said that I passed the examination.

(D) He has passed.

‘Red-hot’ is a compound word that is formed by
(A) Noun and Noun

(B) Adjective and Adjective

(C) Noun and Gerund

(D) Adjective and Verb

Disclaimer : Every effort has been made to ensure that the answer keys provided herein are accurate to the best of our understanding. These are for reference
purpose only and should not be considered as the official answers. The purpose is to help the examinees to analyse their performance in competitive examinations.
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13.

14.

15.

16.

17.

18.

19.

Identify the correctly spelt word:
(A) Conotation (B) Conottation
(C) Connotasion (D) Connotation

The army the troubled places as curfew re-
mained in force.

Choose the correct option:
(A) moved (B) walked
(C) patrolled (D) ran

Select the correct form of the simple sentence for
the compound sentence mentioned below:

He was not confident, but he appeared for the
interview.

(A) In spite of not being confident he appeared for
the interview.

(B) In spite of lacking in confidence he appeared
for the interview.

(C) Both (A) and (B)

(D) He appeared for the interview though he was
not confident.

The antonym of the word Gruelling is
(A) Cunning (B) Easy
(C) Motivating (D) Dampening

Form a correct and meaningful sentence by
rearranging the following:

(a) To sell

(b) A gentleman

(c) Who wishes to go abroad

(d) Has a dog

(A) (b), (d), (¢), (2) (B) (a), (b), (d), (¢)
(©) (b), (¢), (d), (a) (D) (b), (), (d), (¢)
The making of the plan is in hand— Here ‘making’
is a/an

(A) Noun (B) Infinitive

(C) Adjective (D) Gerund

What does the word Verisimilitude mean?
(A) Truth (B) Similar

(C) Verified (D) Familiar

20.

21.

22.

23.

24.

28S.

26.

27.

Select the correct phrasal verb for the underlined
word in the sentence:

She did not appear for the interview on time.
(A) turn out (B) turn up
(C) turn upon (D) turn in

The plural form of ‘hypothesis’ is

(A) Hypotheses (B) Hypothysis

(C) Hypothises (D) Hypothesis

Who is an atheist?

(A) One who belives in the existence of God.

(B) One who is confused about the existence of God.
(C) One who does not believe in the existence of God.
(D) One who is a follower of aesthetic principles.

One of my friends visiting me this summer.
Choose the correct option:

(A) are (B) will be

(C) are being (D) will

Complete the idiomatic expression.

Birds of the same feather together.
(A) fly (B) chirp

(C) flock (D) sing

Our Sir teaches Mathematics English.
Choose the correct option:

(A) across (B) beside

(C) besides (D) over

What is the negative form of the following sentence?
Alfred was the best king that ever reigned in
England.

(A) No other king as good as Alfred ever reigned in
England.

(B) Alfred remains peerless as a king in England.

(C) Alfred was not the best king that ever reigned
in England.

(D) None of the above

What is the synonym of Lurk?
(A) Lean (B) Hide
(C) Play (D) Guide

Disclaimer : Every effort has been made to ensure that the answer keys provided herein are accurate to the best of our understanding. These are for reference
purpose only and should not be considered as the official answers. The purpose is to help the examinees to analyse their performance in competitive examinations.
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28.

29.

30.

31.

32.

33.

34.

35.

That is a fault that will right itself.
The underlined word has been used as a/an

(A) Adverb (B) Verb
(C) Noun (D) Adjective

Identify the complex sentence from the options
below:

(A) He went to his father’s native place.

(B) He succeeded although his success was not
expected.

(C) He was a mere boy but he offered to fight the giant.

(D) He must have done his duty for he is a
conscientious man.

Cartography is the study of

(A) Carts (B) Maps

(C) Graphic Art (D) Cartoons
D ool e ¢
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36.

37.

38.

39.
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41.

42.
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44.

45.

46.

47.

48.

49.

50.
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58.

59.

60.

61.

62.

63.

64.

65.
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74.

75.

76.

77.
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79.

80.
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94.
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